SHSEI A DRFEIK:

B x5 BE (%) | JE (hp) Z.a (°C) _ ;8 (°C) K= (mm) S = (om) BEE (cm)
FHIOKF | FRIOKF | FRIOKF| F1£8KF o | =i 50cm 1m AH RiE AH RiE BB

1 BEh 84 930 -1.2 1.0 9.8 -1.6 - — - — 0.0 0.0 90.0

2 = 94 926 2.1 -2.0 4.4 -3.7 - — - — 0.0 0.0 90.0

3 S 86 927 -0.8 -2.8 4.9 -5.8 - — - — 2.0 2.0 92.0

4 B 79 928 2.3 -1.8 6.2 -7.8 - — - — 0.0 2.0 90.0

5 1R B 88 929 -3.4 -0.5 6.9 -3.4 - — - - 0.0 2.0 88.0

6 {£Y 87 930 3.0 0.0 8.8 -5.8 - — - — 0.0 2.0 88.0

7 Eh 87 928 -1.2 0.9 11.4 -4.7 - — - — 0.0 2.0 80.0

8 BEh 80 930 0.9 2.7 14.2 -1.7 - — - — 0.0 2.0 80.0

9 TREE 90 930 2.4 2.7 14.1 0.3 - — - — 0.0 2.0 80.0

10 <EY 96 928 3.2 3.2 8.5 -35 - - - - 0.0 2.0 80.0
LEFEHE 87.1 928.6 0.7 0.3 8.9 -3.8 - - - - 0.2 85.8
11 <EY 82 928 1.7 1.7 12.1 -238 = — = — 0.0 2.0 80.0
12 {£Y 84 930 2.6 2.6 14.8 1.5 - — - — 0.0 2.0 70.0
13 55 96 926 3.2 1.1 4.9 -1.8 - — - — 0.0 2.0 70.0
14 TREE 79 928 1.1 -0.5 6.7 -4.1 - — - — 0.0 2.0 70.0
15 RIS 86 928 0.7 1.8 12.6 -2.7 - — - — 0.0 2.0 67.0
16 & 80 930 5.3 2.8 13.3 -2.7 - — - — 0.0 2.0 60.0
17 55 98 930 1.0 2.6 13.3 1.0 - — - — 0.0 2.0 60.0
18 55 96 930 2.4 0.6 35 -4.2 - — - — 0.0 2.0 60.0
19 RIS 91 938 -0.8 -0.9 7.4 -5.0 - - - - 0.0 2.0 60.0
20 RAE 83 927 0.3 2.4 11.1 -5.0 - - - - 0.0 2.0 55.0
haEHiE 87.5 929.5 1.8 14 10.0 -2.6 - — - — 0.0 65.2
21 BEh 82 927 6.4 3.5 14.5 1.0 - — - — 0.0 2.0 50.0
22 R 86 928 6.8 45 18.2 14 - - - - 0.0 2.0 50.0
23 <Y 83 926 10.0 4.9 15.8 3.6 - — - — 0.0 2.0 45.0
24 <Y 98 920 6.6 4.1 11.7 2.7 - - - - 0.0 2.0 40.0
25 <Y 99 920 4.1 3.5 9.3 2.6 - — - — 0.0 2.0 40.0
26 {$Y 99 922 5.3 46 11.2 1.7 - - - - 0.0 2.0 40.0
27 B 73 924 4.1 3.2 7.8 0.9 - — - — 0.0 2.0 20.0
28 <Y 87 926 3.7 2.1 10.4 -0.3 - - - — 0.0 2.0 20.0
29 TREE 82 928 4.2 4.4 11.2 -15 - — - — 0.0 2.0 15.0
30 RIS 82 928 5.9 5.3 14.8 -0.2 - — - — 0.0 2.0 15.0
31 Ei 84 924 9.1 49 16.8 -0.8 - - - - 0.0 2.0 10.0
THaEHIE 86.8 924.8 6.0 4.1 12.9 1.0 RERE XKEFKE | KFRE RERE 0.0 31.4
A¥EH 87.1 927.5 2.9 2.0 10.7 -1.7 KFE | KFKE | RKFKE | XFRE 0.1 59.8
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